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@ FHser —43r+12=(x-243) ZRIILT,
¥ —43x+8=0
X —43x+12=4
(x—2J§)2=4
x-2/3=2,-2
Yo, |x=2V3+2,2V3-2
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/ABC = /DAC ({R7E) o
/ACB=/DCA (H®)

e, A% T
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BC:CA=AC:CD
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oxt+12x =49 ©)
#1535, PR +122+36=(x+6)* ZFAL T, IHIcEEHRZD L
2 +12x+36=49+36
(x+6)° =85

x+6=+/85, —/85

Y oT, OOfftitx=—6++/85, —6-+/85 T2,
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x DFFEA
¥ -2@+3)x+8a+2=0
Nrx=a ZRO—2H 2D T, x=a WAL
a’*-2a(a+3)+8a+2=0
a* -2a>-6a+8a+2=0
-a’*+2a+2=0
a-2a-2=0
BRSO, koT, RKDDaDEX, ZDaDHBEXOMETH D,
Ve e -2a+1=(a-1) R L THEXEZMH &
a*-2a-2=0
a’*-2a+1=3
(@-17*=3

a-1=+3,-3
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13 AR D KO R xlj4 [m*]1Cdh 5.,

@) ()& FREC A2 1B AL B kDT Y ('] & 9h s, T ABTI54. 7
X
DI B T 9 BIEKT B L T IS 72 B DT

K><15+ 4 x9=V
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B) @TEHELNEHTERXOWEIIZ x(x+4) ZHIT 5 &,

?x/(x+4)+ﬁxxmzx(x+4)

154 +60+9x = x* + 4x
60=x*+4x-15x—9x
- %% —20x =60
LD, IR A —20x+100= (x —10)* ZFH LTIz &,
x% —20x +100 = 60 + 100
(x —10)* = 160
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